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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OtSAl=48H 6,495,470 5,547,063 948,407
= 582,446
Jl 975,108
= 1,143,940
Al 3,793,976
elAd 2FJe A= 6,473,210 5,525,425 947,785
= 582,446
) 975,108
= 1,143,940
Al 3,771,716
e 3,061,405 2,857,809 193,59
= 898,951
Al 2,152,454
SETHEAE 28X 2,928,105 2,718,369 209,736
= 878,431
Al 2,049,674
307 @120l & 2,928,105 2,718,369 209,736
== 878,431
Al 2,049,674
11 AMRISXAEEES 2,928,106 2,718,369 209,736
OZAEAE 2N 2,928,105
< 878,431
Al 2,049,674
SAITHEAIE SAHL SE+E 68,400 66,240 2,160
= 20,520
Al 47,880
301 EtE NS 68,400 66,240 2,160
=S 20,520
Al 47,880
02 ANRI2HHSFS(HAAS, NLHE) 68,400 66,240 2,160
OHUTHEHAIE SAtL SE€+E 68,400
< 20,520
Al 47,880
SIS HEXZ 44,100 63,000 A18,900
301 EtE NS 44,100 63,000 A18,900
14 IIEt2 83 44,100 63,000 18,900
OXE X2l A& 44,100
ARISXIAL SXPHE K& 10,800 10,200 600
307 gl2to| & 10,800 10,200 600
1 AMISXAEEXS 10,800 10,200 600
OFATHEAIE SAA X8| X 10,800
Bl =paley 121,620 181,800 260,180




OISAISsHH
FulAd 2EJIE 2=
o2 EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SX5s KNIAHY 121,620 181,800 260,180
201 er23 | 120,000 180,000 260,000
01 At2teltl 120,000 180,000 60,000
O0ISXIS XZAY 24 120,000
203 2=l 1,620 1,800 A180
03 A=A PR FA| 1,620 1,800 A180
OltSi= gF=d 1,620
M2 3,300, 185 2,485,816 814,369
= 582,446
) 975,108
& 244,989
Al 1,497,642
AALSKIME 2 51,100 51,100 0
Jl 25,550
Al 25,550
307 el2to| & 51,100 51,100 0
) 25,550
Al 25,550
05 2I2+RIE =S 51,100 51,100 0
OFAHIFAHH 2g 51,100
Il 25,550
Al 25,550
AALSKIGE QAKX 1,003,860 911,940 91,920
Jl 501,930
Al 501,930
307 elztol & 1,003,860 911,940 91,920
Jl 501,930
Al 501,930
05 2I2tRIE =S 1,003,860 911,940 91,920
OZMAHLFXHEH AHKXA 1,003,860
Jl 501,930
Al 501,930
SEAATSTAE 584,880 517,300 67,580
Jl 292,440
= 58,488
Al 233,952
307 @120l & 584,880 517,300 67,580
Il 292,440
= 58,488
Al 233,952
05 2I2tRIE =S 584,880 517,300 67,580
OSSIANALSIAI 584,880
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g9l A2 EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 292,440
=S 58,488
Al 233,952
Aaoed & HAARNTSIA 81,440 81,440 0
7l 40,720
Al 40,720
307 lztol & 81,440 81,440 0
Il 40,720
Al 40,720
05 2I2HRIE S 81,440 81,440 0
ONNY X JAATSIAILY 81,440
) 40,720
Al 40,720
AL SAHE GEWLAE X2 228,936 222,216 6,720
Jl 114,468
Al 114,468
307 212+01& 228,936 222,216 6,720
Il 114,468
Al 114,468
05 21t = 228,936 222,216 6,720
OZAALFAHE NHatTAIS X 228,936
Jl 114,468
Al 114,468
Aatlet delxls K& 392,000 392,000 0
=S 117,600
Al 274,400
307 @I2t01 & 392,000 392,000 0
< 117,600
Al 274,400
05 2ItRIE = 392,000 392,000 0
OXtaie aelxls X& 392,000
= 117,600
Al 274,400
SSACISAANE2E 235,440 230,990 4,450
= 87,720
Al 147,720
307 @120l & 235,440 230,990 4,450
= 87,720
Al 147,720
05 2IR”IRIE = 235,440 230,990 4,450
os=dcISSAHHEZE 235,440
= 87,720
Al 147,720
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M HAAY 2|0 2=
Sl 3= EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
eI SN X=X 32,800 22,000 10,800
= 16,400
Al 16,400
307 el2to| & 32,800 22,000 10,800
= 16,400
Al 16,400
012z & a=Hl 32,800 22,000 10,800
FAEER XIZdl A 32,800
= 16,400
Al 16,400
OSSN XA 685,029 0 685,029
= 478,326
=S 68,901
Al 137,802
308 XM SOIE 685,029 0 685,029
= 478,326
= 68,901
Al 137,802
18 SIS0t HAS A 685,029 0 685,029
OOISS AL XA 685,029
= 478,326
= 68,901
Al 137,802
SAATAIE 2 S 4,200 6,048 1,848
201 fer= 3| 4,200 6,048 A1,848
01 AtR2tc|HI 4,200 6,048 A1,848
OFAAAYA(MANRRE 2 2,280
OZAABANHZ2E 1,920
SEET 2ISXE 500 10,000 29,500
406 J1EHAH=0I A 500 10,000 29,500
01 JIEtAH=01 A 500 10,000 29,500
ONENE =8 AXNESS 500
AH2AZYI(OISXIFHE) 22,260 21,638 622
[=2Z2HI(0tSXISHH) 22,260 21,638 622
J|23HI(0ISXISHE) 22,260 21,638 622
201 2= 13,530 13,058 472
01 At2t2lt] 10,530 9,558 972
Oggt=3H| 6,480
C=E il 4,050
02 S3=gHl 3,000 3,500 A500
O==ZZHHMA 1,000
ORI =l 2,000
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SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
202 0idl 6,840 6,480 360
01 =WHO4bI 6,840 6,480 360
OJ28RF=& 0] 6,840
203 PYRF=&IH| 1,890 2,100 A210
M EAM2IHRFA| 1,890 2,100 2210
ORNZIURFAI
157,500& 123 1,890




